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And there is a contradiction; - 912 2971 192 PR IR PYRAW 929 TR
Rabi Shimon says there is no difference between a perforated, etc.

Overview

The miwn stated that w"7 maintains that if one rips off a plant from a flowerpot
whether it is perforated or not he is Mw», for plants growing in a flowerpot (7°%V)
are not considered 1217, attached to the ground. »ax then asked that from our mwn
it seems that w"7 equates a 2321 to an 2Ip1 1K, but elsewhere we learnt that "
ruled that the only difference between a 23p1 and an 23P1 1°XR is regarding "Wwon
o°vr.! The question seemingly is that how come in our 7awn we find that w"
equates 211 to 211 1°KX, while in the Xn»72 he distinguishes between 2171 and 11X
271 regarding 2°y77 w33, Our MoOIN has a difficulty with this question and offers
various solutions.

mooin asks:
= 1°9°35172 120 NP 2) NN*H2 TN RN 72999 YN1D NN*H

It is astounding! what is »2X asking, for this Xn>93 also teaches us the same

ruling as was taught in our 73w», namely -
- 24253 DOYAT TWAN PP 92 293 1INYI 21P3 Y9 Yabt

That in all aspects an 21 7YXV is like an 2121 1R, except in regards to =W
2%yt only —

mooIN rejects an anticipates resolution to his question:
= 3DoP9T AWM NAY NIV NN NYD NOWP IN)

And if »2X had this difficulty; why is naw different from 2097 w77 -
= 1199 NN DY SWPHN NIvN NYa 15 ON

If indeed that is his question, he can ask this contradiction from the Xn>92 itself

without resorting to our $73w%; the question should have been -
= YIVNI 2IUN D927 INY 123¥9) 929N 29773 2SYN DIYIT YWINDT NIV INN

' In order for food to become Xnv they must first come in contact with water (or other liquids), after they are
detached from the ground. Therefore if the 0°¥77 are growing in an 21p1 y°%¥ they will not become aR™Ww 22p% WM
(if liquid falls on them), since they are considered 121mn, however if they were growing in an 2P1 2WRW 7°%y, they
will become 78mW 22p% WwHM, since they are considered wion.
2 According to the Xn»13, regarding naw there will be no 211 for ripping off something from an 231 7% just as it
states in our 7Iwn, so what is the question of »2x?! The m1wn makes no mention of 2°y71 W37 either way.
3 Why is there this difference that regarding naw, our mw» states 2P WWXW3 11 (and he is always Mws for wN),
while regarding 2°¥7 w51 the &n>72 distinguishes between 2171 (where there is no “w>i7) and 2121 1R (where there
is wa). If 231 is 291 1°RWD then by o°va1 w>i also, a 291 should also be wan.

1

TosfosInEnglish.com



1727 77 '0I0 R,AX N2w L7023

Why is there this difference that regarding 2sy=r “w>i, a 221 is considered
attached and is not "w>1, and regarding all other matters (including naw) a 3122
is considered uprooted (not attached); why mention our mwn at all?!

In summation; NMooIN asks two questions; first, there is seemingly no contradiction between our
mwn and the Xn»73; and secondly, if the question is why is naw different from 2°y71 w27, that
question can be asked on the &n»72 itself without involving our mwn.

NID0IN answers:
= 2973 99NV 217 3PUN NAY 1257 1193 1599 15N DN 12929 IIIN)

And the n'' answers, this is what >2X is asking, since regarding naw, we

consider 21 like 21 Y198 (meaning that it is considered wY>n and not 72177) -
= ('nmwn 1 pa9) DINDD DN DINDD 1239 199 91V XDIPY MNT 2) DY 9N

Even though that considering 2171 1°Xw> 2171 is a leniency and he is 99 (if he is
w?n from an 291 y°¢v), and similarly regarding 278> as the 71wn states in noon

QIR that there is no 0°X?> Mo°X if it is grown (even) in an 2191 XY, therefore since we say 2101

X272 2391 1°XWw> (and it is considered won) -
= NYINY 577 2193 1INYD 2193 MPIYNNRY 1Y 51N DY 9WaN PayY 1av Y5

So certainly regarding 2sy27 w77 we should consider 2121 °Rw> 2121 when it is

N2 and say that just as 231 1°K is w11 so too 2P is w2 (for it is considered w1on) -
= 99U 1PRY DIPIT AWIN PPIYY 92INND NN 21PIT 1IN RNYH32)

However in the Xn»91 it states that 221 is like 9212 regarding 2vpar "Wwan
meaning that it is not 9w —

moon (answered the first question and) explained the question from our 73w on the Xn»173; since
in our mwn we rule that 23p1 is like 2371 1°R even X7p2 (that there is no Aw°%n MO°XR), so certainly
2301 should be like 2171 1°X, when it is X177 (that the 23p1 should be X0 9202 TwoMm).

Now moon will (answer the second question and) explain why there is no contradiction in the

Xn» 12 itself; the question on the ¥n»92 is only based on our mIwn.
= 1Y 213 1INWY 293 2993 DYDY 421P) 1INWD 21D 122 PN NNPYI2T NYWITI 99

And this is the explanation of the Xn>»93, which states, ‘there is no difference
between 2121 and 2171 1°98’; meaning that in regards to all matters 2121 and 1R

2171 are the same, meaning -
= YITND 1N 19%2WN XININ YITN MHNT DIPNAT RINDIND 1999IN)

That we always follow the stricter ruling; in a place where being wi»n is a

4 Mmoo is negating how we previously understood the Xn»72 that 2371 is considered w20 just as 231 WX is
considered v1on, but rather they are the same X112, whether w120 or 9217 as MOOIN explains.
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X217 we consider both of them (2171 and 2301 11°Xw) like w?n
= 5421195 119199 12%2VN DINDD NAY 15 NINDIN 921NN 21 IN)

And if considering them 2212 is a X927, for instance regarding naw and 29892,

we consider both of them (2171 17X 21p1) like 92772 -
= 2193 1INV VIYNI 213 22IYNNRD 199NN RYT DIYIT 9WINA NON

Except regarding 2°v2r w27 where they were not strict to consider 221 as
being wY?n like 2371 139K and the 2371 should also be Ax®Iw 73p7 W -

= 69217195 AWN’D NN NINPIN NON
But rather they let it remain as its rule requires, to consider it 92y and it is not
WM —

In summation; from the &n»921 itself there is no contradiction for we will interpret the Xn»12
(which states 211 1XWY 2301 P2 PR) to mean that we go X%, so by naw they are both
considered 721 and by 2y for some reason we distinguish between 2371 and 21 K.
However once our mwn teaches that by naw we compare 82177 2191 1R 2P (meaning that 211
in all cases has a 7 of 2p1 1XYW [even R7PY]), so certainly by 2°¥1 2w the 2191 should be like
the X717 2321 1°% and should be 82w WR 2apn.

NN concludes:
= SYDPa 091N M9 Y 29PN 113 PYNY 229D 191991 PRT 7T 29D 91395 998

And according to this it will be necessary to say that according to @''9, one
cannot separate 72190 from produce which grows in an 23122 y°¥v and apply it for

produce which grows from the ground -
= NINY 1399INT 29773 199N M5

Just like one cannot be 71170 w91 from 2171 19K, for we go X2,

In summation; according to the n" the meaning (in the Xn»12) of 211 WRWH 2321 P2 PR (in the

5 Therefore we cannot ask the same question from the ¥n»91 itself, as we can ask from our 7wn. In our mwn we
learnt that 2121 °Xw> P31 even X71pPY therefore we can ask that by 0°v1 qwan we should certainly state (") that 21p1
X177 21 KW, However the Xn>>2 (according to the n'"7) merely states that X277 211 11°XWw2 2371 so there is no
"w">" question, for according to the Xn»12 we are 77ma by naw (to be wIn 21 even for 231 1X), but for some reason
we are not 17nn by ¥ o (for 1R PR [and an 2121 yXY is considered 817 as 1211]). See footnote # 6.
6 It would seem that basically (n"7n?) a 2301 is considered 221 and 2171 1°X is considered wh?n. However, the 1127
were amn and equated 23p1 1RWY 21p1, that in all cases we go X n? (whether w120 or 1211). By o°v91 2w (for
some reason) they were not 13 and left it 7117 that 2301 is 92197 and 2321 WX is win. See footnote # 5.
7 According to the s'n" interpretation of the 8n>>12 that we always follow the XM when comparing 21p1 17X 2373,
it will turn out that just like 211 1°RW P°X¥n 79170 W 5A TR on Ypip MD the same Xvan will apply to 21p1 %y,
See &"wann for further clarification. See ‘Thinking it over’
§ One may not separate 72770 from produce which is not obligated in n"7» 77N, and have that 70 exempt other
5av which is n"an 770 2902, One must be 21°77 Y 21°773 12 w9 but not 2vnn Yy won ». The amn 2vn for
anything growing in an 211X 1°%V is certainly not n"7n 71702 21 (and the same will apply to an 23p1 yoxy).
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X"17) is that the same rule applies by 2321 11X 2391 only X112, whether it is to consider them
both w170 or 1211 (except for 2°yI7 W7 where 2191 18w 2101 are different).

nvoINn offers another answer:
= 99X PYNIY 29 7299 21T WD PNNY 1D

And the >''9 explained that this is what >aX asked; the X071 reads, ‘w''= rules -
= 7253 ©OYAT YWON NN 213 1NWY 29773 P2 PN

There is no difference between 2371 and 21?1 R only regarding 25y9r w7

exclusively’, »ax infers from this -
= 92M1223 21P) VN DY 9YIN 22XT 11

And since regarding 2997 w7, an 2321 XV is considered like =2y, meaning
that if they came into contact with water and then came in contact with AR, they remain M7,
since they were not IR0 92p% wo, for they are considered 2211 -

- 92IN15 2IWN KNNINTI 139 ¥IY WD YaPn 1RV DAY 1T 2 Y 9N

Even though that considering it as 721 is a X»Ip, for it will not become =%

TRAIY 22p7; we derive from this that n''% an 2301 ¥y is considered 22y -
= NIV 1N NYNIYD 133991 10D 1959009 1IN 239D YIVND 2IWN NNIIINTH INT

For if n"m% it is considered as w1»n (and therefore will be nXnw %27 Wwom), how

can we consider them 31297% 9972 when 78210 touched them -
= 999NN 11 YWD HYPT D

Since they received n''7m w277, so we must therefore conclude that they are n"in 12mn.
- 2793 1NVUY 2193 13 PN NIPI2T NUI2 2INPT XD 19 ON)

So therefore (since the 2371 is considered n"7n 721n) this which is stated in the

w4 of the X012 that w"1 stated, 2923 1IRWYD 2321 192 PN -
= PVITND DNNY MYYD XD D912INND DNNY MYYY N5 DY

Perforce must mean that both of them (2171 11°Xu1 2171) are considered 292y

but not to make them both 2%25n -
- 10959230133 2973 139X) 29 9993 U53) RNMINTA 1IN 2PUA 21737 1193

Since 2371 is considered n''7» 92w, so in all matters 231 IRV 21 are

considered a%2w» -
- 1137599 135N WA $110Y 1929 PHNNT 1293 0PI WM YIN

? The 1127 cannot make something which is n"7n v to be considered (733772) v, They can only make something
which is n"7in M7V into a 13277 ARMY.
10 This is the point of s"aR question since we are inferring that 2171 1°Xw> 231 means that they are both like o™
so why does it state in our 71w that 23P1 y°X¥»n W2IN7 is Mo, since in the N2 we say that it is 92113, so he should
be 271 if he is 21 ¥y wIn. However there is no contradiction in the Xn>>91 itself since 21p3 11°XW2 2171 means only
that they are both considered 01217 (and are nawa 211 [see footnote # 5]).
' Even though generally we say that we equate 2171 1°XWw2 2301 to be considered 2217, but regarding o°y~r 2wor the
o°non decided to be °nin by 21p1 1K and 'P1IR PR that it is WiPn (see footnote # 6).
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Except for 2>yt 22271 only, where the 3139 were 9% to be X»w» when itis R
23?3 (however by 21p1 it is not w21 [even 1127771]) —

In summation; according to the °"3 the meaning of 21p1 XKW 2p1 12 PX is that in all cases
(except @°¥11 wan) they are both considered!? 721 (which contradicts our 71wn).

= 1555990 ANMIV 12399 IRV 13999 YN NNYN)

And now the X723 answers properly; ‘that it is different regarding nx=w, etc.’ -
= 9290195 21P) PYNT 15NN NN N34T XD onnY

That there by naxmw “wdn is where the 79w wrote explicitly that 21 is

considered like 227 -
- 1PNNNA 109 291D WITN 2WN 99 Yab Yan

However regarding all other matters, 2371 is considered like w?n, so therefore
he is 75 in our MW for being Wn from an 23p1 77XV on Naw.

mooin has a difficulty with (both) these a>w1a:
= 1199 WM 219 1RV PYNY 239D 21D NNUN 9INPT DIVION IYND NYP YaN

However there is a difficulty with these 2swy9sp, for »2X said, we can infer from

our 7Iwn that @' equates 2171 to 221 MR, and he then proceeds to ask a question from

the Xn™M2 -
= 1799 A1 162993 199NWI 21P) MWN NDT N2 MMNIND YT YHWN

It seems that he wants to derive from the Xn92 that it does not equate 221 to
2171 1198w, but this is not so; in the Xn>12 we also equate them.

12 This is not like the n"1 who says we consider them either w170 or 721m% depending which is the more ~van.
13 See 217 WY that this 779w >3wn Rnwm refers to both 2°%17°n of the N and the >". Initially we assumed (without
the n"71 >"9) that the meaning of 211 WRWY 2121 1°2 X is that they are both considered like w17n. Therefore it is not
understood what the X3 answered, 7 "Wwn w1703 131 "9 937, since we knew that all along. However according to
the *"M n"1 w7 that "1 23p1 12 PR means that they are both considered 721n (according to the *"1 always, and
according to the n" when it is R11%), therefore the X3 answers that this assumption is not correct, but rather 537
79 "W wond "o, See the X"wnn for an alternate explanation.
14 The X7n3 is retracting from the X" that 2121 1°XWw> 2171 means that they are both 01211 (see footnote # 13), but
on the contrary 2121 1°RW> 271 means that they are 2°w12n2 except for oy Wwon.
15 See the X m3 (on the '2 TmY) which cites the P109 (in 12,8 Praw] XP7) of YIr WK ¥177 ¥I1 9y (see *"wn there 1"7
¥ WR); indicating that it cannot be 1217 at all (and 211 7%V is considered [partially] 221).
16 If the intent of »2X was to merely show a contradiction from the 71wn and the Xn»72 (whether according to the n"
or according to the >"9), just state the contradiction why mention 7°% "Wwn 23p1 WWRWD W"? 2p1, since this concept is
not contradicted in the &n>n2.
17 Regarding the Xn»73, according to the N, we say X272 211 11RWI 21p1 (whether w120 or 1211») and according to
the *"1 we say 121 NPAY 231 WRWD ), but all agree that 231 RWD 201 just like our mwn. There is no
contradiction regarding this point that 221 1°Xw> 2p1.
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N190IN answers:
- 759 UM 173 1RV PNV 5395 2173 RN MNP 5907 YWY UM

And one can explain that this is what »2X meant, it is evident from our 71wn»

that according to @' we equate 21?1 like 2?1 19X (meaning just as 21 WX is
considered 170, so too 211 is considered 12N, and therefore w7077 from them is Mwd), therefore
»2R asked -

= 137955 99N 29935 2P 1ORY NAYTINT 2919 1NN

‘And I will challenge you, etc.” for in the Xn™72 it appears on the contrary that

2371 IR is equated to 231 (that just as 271 is considered 7217, so too 2P WK is also
considered 1211) —

mooin offers a third explanation:
= 199ND9Y NS WY 1238 29173 1ORWYD 2173 192 PR 9INRP 1INT PN 13529 WD T

And the 59 explained furthermore, that this is what the Xn»72 meant, there is

no difference between 2171 11°8w» 2171 regarding 78D wy» and 2°989> -
- DIV NIV NTYUN N8N 212550 VYN 199 2271999 7TV 112 2PN2T a1

For since '1»931 772" is written by 2°X%1 X9 respectively, and similarly by

Twyn it is written, “which come forth from your field year by year”, so since the
70 uses the term 77w, therefore -

- 2573 19NV 172 2193 P2 VIYN »PUN

Both a 271 and a 2321 28w are considered o, for they are not “fields’ -

- 1599971 Y9) YT TWAN PIYY NYN 919N 13 PPN)

And there is no difference between 2171 1°X¥1 2121 only regarding 2°war 2w
and anything similar to it -

= 9201 YIVNA NIN DTV 2IWN NINY 9272 DN 1INV NAVY D

For instance naw where these laws are not dependent whether it is considered

a ‘field’, but rather whether it is 2Y%n or =221 -

— 293 1PRWI 2P NN RY 1NN
So regarding these things (n2w) 2°y71 2wIn), 2391 is not like 2321 19RW; this is what
is apparent from the Xn™92, however from our 71w» we see that even concerning Naw we say 2173
2P RWD -

18 This will certainly fit in accordance with the >"9 that they are both considered o211 (see footnote # 10 & 12). It
may also fit according to the n"19, since from our 7wn it appears that 2301 is (always) considered 171 just like 1K
2991 even if it is X91p7 [as it is by nawa wHn], however from the X013 it comes out that 2373 is considered w12n only
if it is X117 but not if it is RPY.
19 See X"2v>1 that this X012 of W' was written next to the laws of TWyn1 @°X%2 7IXD.
20 Regarding nx9 the 70 writes (in 23,30 [»R] X17°Y) that "3 77@ NXD 7750 &Y, and regarding °X73 the 710 writes (in
1,20 [K¥N] 0°727) that o°X?3 9272 ¥rn KY; indicating that these laws apply only to 72731 77w but not to an 2321 y°¥y.
21 23,71 (7X%7) @27 reads, TIW W FTWA XY TV ARIAN 9O DX WYN WY

6

TosfosInEnglish.com



1727 77 '0I0 R,AX N2w L7023

- 159 59U 2193 IPNYI PYNY 239 293 NNIYN TINPT N 22959 NN DT 299

And according to this it will be properly understood this which *2aX said, ‘it is
evident from the 71wn» that 2122 according to @w''1 is like 212 19K regarding naw -

12173 1ORYI 299 MHYUN NYT NN

And I will challenge this because ¥"9 in the X172 does not equate RW> 2372

2371 regarding naw (and 2°y71 TWw>7), he only equates them regarding wym o°R?3 nxd, for they
are not considered "7V

Summary
Mmoo offers three explanations of 191 RPR 21p1 WXWH 2191 12 1R according to the

X" that it contradicts our mawn. A. that they are both considered either wv17n or
712 depending on which is more strict (n"7); B. they are both considered 2217
(>); C. that regarding 0°X?21 qwyn 1Rk they are not regarded as 772 (°").

Thinking it over

mooIn writes regarding the n"79 that according to n"7 it will be necessary to
assume that both by 2121 and 21p3 1°X the rule is that one cannot be NN wooN
mwym from them in order to exempt other produce grown from the ground.?
However even without the n"75 we assumed initially and also according to the
Xipon that according to W'Y we equate 23p1 to 23p1 WX that it is considered wion;
why therefore does Mo write 121 2"% 77 9912124

22 According to this "9, the previous question of WY 1287 Twp 73X (see footnote # 17), does not apply, for we
see the contradiction between our mw» which compares 2191 1°Xw? 211 regarding naw, and the ®n»72 which only
compares 2p1 1WRW? P31 regarding WY 0°K23 XD, but not regarding nawn o°yIr WA,
23 See footnote # 7.
24 See X"wM.
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